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s ’C ) ’C = _gk 'l
, (3.19b)
1
-Vp=—gk. (5.2)
p
3 0 )
dp(2)
o 5.3
dz Py (53)
(5.3) (4.1)
2
5.1
z )
o (geopotential) , Z = ®/gqg
(geopotential hight)
Z z
d(z)=  gd (5.4)
0
1 . g g
GM
= . 5.1
a2y (5.1)
G M a z
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» 90 go = 9.8l ms 2
2
z2=0 go = 9.81m/s?
z =100 km A
(5.4) z P
, (5.3) p P T
Z

p(2)
P(z) —®(0) =—R Tdlnp.
p(0)

(5.5) (hypsometric equation) . (5.5) ,
( ) (thickness))?
R Z p
Zr=Z(p2) —Z(p1) =——  Tdlnp,
9o p
( ) )
, (5.6) ,
: pL P2 (T)
R
pl *Tdlnp
<T> = p2 dl
p @D
b1 D2

Zp = —H1n(pa/p1)
T
H= R< >,
go

3p1>p2 y P1 p2
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: et : 255K
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2G

(5.12)  (5.11)

T(z)=To—Tz

5.2

z z+ Az
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(5.10)

(scale hight)

(5.11)

(5.12)

(5.13)

(5.14)
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p=1 2 (5.15)
p
S (4.18)
0 (4.1)
bo Wy Tars
g 2 5.16
Rp  po (5.16)
Cp
=3 (5.17)
z z+ Az
A
B
PA — PA T APA A,OA (516)
M ﬂl/v#
App = Po - PA
ROa  po
l'1,0 dlnp T
A A
= == A 1
T z, (5.18)
pa(z) = ps(2)
H dlnp 1
pa(z + Az) = pa+ Apa = pa(z) + pTB P 5 Az (5.19)
z+ Az B )
_ deE _ dPBE
pe(z+ Az) = pe(z)+ =—= Az =pa(2) + — Az (5.20)
dz | dz |
D?Az L 1 dpg B
D2 pa(z+Az2) dz g
pe(z + Az)

pa(z + Az)
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dps _ _
1z rBg

(5.19), (5.20)

D?Az B g
Dtz A
pa(z + Az) H q
pe(2) dlnpg ldlnps As

pa(z + Az) dz vy odz

(pe(z + Az) — pa(z + Az))

(5.16) O(Az)
p2A:  Mdgg! R (5.21)
Dtz g dz | ? .
g(din%), > o
g(d%), <o
g(dn%), > o
g(diate), — o
5.2.1
v .
a0 PR
FE
A
o dz p dz
¥ =0
_ dT g
ro=-5 =& (5.22)

Iy Ty = 9.8K/km



o8 )

5.2.2 Brunt-Vadisala

(5.21) dné >0
Az = 9’_+eiNt—|—C’_e_iNt (5.23)
dlné
N = 5.24
I (5.24)
N Brunt—Vaisala

Brunt—Vaisala N ~1072g1



